20.76.1301.00




Wf//{(

©
Mé6X13 M6X30 @10 @7 @

13.03.01.021 x 48 13.03.01.029x 8 13.01.02.070x8 13.01.02.186x8  13.01. 01 786x12 13.07.01.016 x 1

e B8 o %

4x20
(__13.07.01.108 x 10 13.07.01.110x 10 13.01.01.046 x 10 _13.01.01.248 x 12 130301066x6 13.01.01.111 )

%)

18.76. 1301 001 x 1 18.76.1301. 002x1 18.76.1301.004 x 3 13.01.01.785x 6

N\

18.76.1301.008 x 1 18.76.1301.009 x 1
18.76.1301.011 x 2

(18.76.1301.201 x3  18.76.1301.003 x 2 18.76.1301.006 x T 18.76.1301.007 x 1 18.76.1301.010 x 2

Kﬂ@&o&m.om X 24
g N
13.07.01.248 x 12

U

18.76.1301.003 x 2




13.07.01.108 x 10

Sy

18.76.1301.009 x 1

13.01.01.111x 8

18.76.1301.008 x 1



18.76.1301.012

13.07.01.016

~

M6X30
13.03.01.029 x 4

5 :::::;

18.76.1301.003

IS — P

\ M6X30

13.03.01.029 x 4

13.07.01.016



18.76.1301.004x3

13.01.01.785x 6

@10

M6X13 A




e
18.76.1301.010 x 2 |
| ’ 18.76.1301.201

9. 18.76.1301.011 x 2
///'
Iz \
=1 mens ) /
% 130301021 x 16 / .

M6X30
13.03.01.

13.07.01.016



M6X30

13.07.01.016

07
13.01.02.186 x 8

3.01.02.070x 8

<0

N







